TEST YOURSELFF
(Units 15 — 16)

TEST 1
I. Tick () the correct sounds for the letters in bold in the words
below.
/6/ /31 R
1. pleasure [ O O —V*E_} B
2. other [ n L i —E}—_“
3. washing 0 O o 1 ﬁiE]t_j
4. television [ [ Ui ]
5. thing £ U L] - 749%__“_:
6. special [ O L] o
7. they - O O o | :wE]~ B
'8 thick | O O o | o
II. Can you tell who is who? Use the prompts in the box.
An architect An architect is someone who designs buildings
, a?méivcs peopléimedical treatment | . acts in plays, movicg, or television
b. whose occupation is cleaning f. writes novels
c. 1s studying at a school. college. | g. controls an orchestra or choir
or untversity
d. paints pictures h. teaches as a profession
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a teacher

a doctor

a painter

an actor

a conductor
a cleaner

a student

a novelist



III. Make the superlative form. Add the . . . est or the most . . . to the

I
~
”
R

word in brackets.

. Themoonis ... ... planet to earth. (¢lose)
SJupiteris ... planet in our solar system. (large)
CSirus 1S star we can see from earth. (hrilliant)
Venus is o planet in our solar system. (hof)
Ceresis .. ... asteroid in our solar system. (big)
. The Energyais ... rocket. (powerful)
Karl Henize was ... man in space. He was 58 years old. (0/d)
Saturnis . ... planet. (beautiful)

IV. Choose the correct answer among A, B, C or D that best completes

19

)

0.

V.

each sentence.

.................. getting the highest result in the class, John still had problems

with the teacher.

A. Despite of  B. In spite of C. Even though D. Nonetheless
... he was seen to be an aggressive politician, lie was a quiet and

loving family man at home.

A. Although B. Though C. Despite D.A&B
........... the bad weather. we had a picnic.
A Although B. Even though  C. Despite D. Because
i he plays football well, he plays tennis badly.
A. Inspite of  B. Even C. Despite D. Although
2o0s¢ will be admitted to the university ... .. her bad grades.
A Inspite of  B. Despite C.A&B D. Even though
... bemng fat. she likes sweets very much.
A. Because B. In spite of C. Although D. Even though

B he has been driving for fifteen years. he does not know how
to change a tyre properly.

A. Because B. Because of C. Although D. Therefore
ST .. not feeling alert, she attended the class.
A. Inspite of  B. Though C. Although D. Even though

Read the text carefully and then answer the questions below.
San Francisco is a big city in California with a unique flair. Some people

say it is a very European city because European influences are everywhere. San
Francisco is a peninsula, the city is surrounded by the Pacific.
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The famous landmarks are the Trans American Pyramid. and ol course
the Golden Gate Bridge. The island of Alcatraz is famous because it was a
prison and now it's a tourist attraction. Other landmarks are Lombard Street,
it's the most crooked street of the whole world because the hill was too steep
to build a straight street there. It was impossible for normal trains to go on
such steep streets. So the Cable Car was built. San Francisco has also well-
known universities like Berkeley and Stanford University.

¥ Questions:
1. Where i1s San Francisco?

TEST 2

I. Pick out the word whose underlined part is pronounced differently
from that of the other words.

1. A. another B. this C. thin D. brother
2. A. month B. threc C. thirty D. clothes
3. A.occan B. season C. shop [>. machine
4. A. sweet B. provision C. tllusion D. Asia

S. A. artificial B. official (. concgert D. special

II. Read the sentences carefully and decide if they are corrcct or not. If
not, correct them.

[ like novels who deal with philosophical questions.

The company did not want to hire a man that his experience was so limite

The family whose house burned down was on television.

She wore a dress what everyone considered extravagant.

Where can one catch the train which goes to Flower Square?

The ship that we boarded in Rio was bound for Marseilles.

John did not want to do business with a man which had been in prison.

Pe N O Wn s bd D

Take your car back to the man who sold it to you.
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HI. Choose the best option (A, B, C, or D) to complete each sentence.

I

8]

W

N

O.

The weather yesterday wasalot . than taday.
A warmer B. warmest
(. warm D. warmly
. I've got two brothers, one older than me and one ... :
A. younger B. more young
C. youngest D. young .
. Londonisthe ... .. . city [ know.
A. excitingly B. most exciting
(. more exciting D. excitingest
. You have to be very ... . .. to go to that university.
A. intelligent B. more intelligent
C. mtelligently D. most intelligent
. All the teachers here are ... . I've learned a lot from them.
A well B. good C. better D. best
That's avery ... mistake.
A. more serious B. seriously
C. serious D. most serious
[ came here because 1 have to speak ... . English in my job.
A. best B. more good C. good D. well
. Can you tell me where the ... .. bank is, please?
A. nearer B. nearest C. near D. nearly

IV. Rewrite the sentences with the words in parentheses.

l.

2

5
b]

Despite her dislike for coffee, she drank it to keep her alert (although)
Mary will take a plane, even though she dislikes tlying (in spite of)

. In spite of Marcy's sadness at losing the contest, she managed to

smile. (although)
We took many pictures though the sky was cloudy. (despite)

. Despite her poor memory. the old woman told interesting stories to the

children. (even though)
Though he has been absent frequently, he has managed to pass the
test. (in spite of)

. Nancy told me the secret, despite having promised not to do so. (though)
. We plan to buy a ticket for the drawing despite knowing we will not

win a prize. (even though)
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V. Read the passage carefully, then decide if each of the sentences i
true (T) or false (F).

The Great Wall of China is like a long winding dragon. It stretche:
more than 4.000 miles from east to west. For thousands of vears. thi
fortification helped block the advances of northern nomadic tribes. The
sheer size of the entire construction is so vast that it is one of the Jarges
building projects ever carried out in human history! Recognizing it
architectural achievement and historical significance, UNESCO (Unitec
Nations Educational, Scientific, and Cultural Organization) added the Grea
Wall of China to its World Heritage List in 1987.

True or False?
1. The Great Wall has the shape of a winding dragon.
2. The Wall is nearly 6,500 km long.
3. The Wall was used for blocking the wind from the North.

4. The Wall is considered one of the largest building projects ecve
carried out by humans because of its size.

_5.The Great Wall of China was recognised as a world wonder in 1987.
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